Exercise 7

The goal of this exercise is a practice of skills in programming. Students will introduce to steering keywords – switch, break, continue.

1. A twin numbers are prime numbers, which difference between each of the number is 2, for e.g. (3 and 5), (11 and 13). Write a program, which puts into an array and shows on the screen 20 pairs of twin numbers larger than ‘a’. The ‘a’ is any positive, integer number, entered by keyboard, but smaller than 1000. The program should be resistant against of entering different signs than numbers or forbidden values of ‘a’.

2. The Goldbach’s Hipothesis tells, that each even number can be presented as a sum of two prime numbers. Write a program which checks this hipothesis for 20 first even numbers.

3. Write a program which in a range <x1, x2> given by the user can process one of three following operations:

a) calculates prime numbers,

b) calculates twin numbers,

c) checks Glodbach’s Hipothesis.

The operation could be chosen by the program user. In the program body, there should be used -  ‘switch’- a conditional expression. Finally, draw a block structure of the program considering internal blocks of the functions. 
